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import cv2
import pytesseract
from PIL import Image

# Load the image from file
img_path = '/mnt/data/image.png'
image = cv2.imread(img_path)

# Convert the image to gray scale
gray_image = cv2.cvtColor(image, cv2.COLOR_BGR2GRAY)

# Use tesseract to do OCR on the image
text = pytesseract.image_to_string(gray_image, config='--psm 6')

# Since the OCR results may contain unwanted characters, we'll try to clean
it up and extract the numbers
# Split the text into lines and then into numbers, filtering out any
non-digit characters
rows = [list(filter(None, [char for char in line if char.isdigit() or
char.isspace()])) for line in text.split('\n') if line.strip()]

# Convert the filtered characters back into strings and then into integers
grid = []
for row in rows:
    digits = ''.join(row).split()
    grid.append([int(digit) for digit in digits if digit.isdigit()])

# Now, let's print the grid to verify the OCR results
grid
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This looks like a number puzzle where you need to figure out the missing number
denoted by the question mark. These puzzles usually have a pattern or a rule that
applies to the numbers in the rows, columns, or diagonals. Il analyze the numbers to
seeif there's a discernible pattern that can be used to determine the missing number.
Let's start by examining the puzzle.
Stopped analyzing v
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o 2o the pussle and detarmin whst umser should episcs th ausston mar 1
nees o analyzethepattarn n the numbers presented n the grid Tis could nioive
lookingfo rithmetic progressions,geomatic progressions, perations between rows
r calurnns, o ny other mthematica relatonship hst cannicts the numbsrs. il
‘xaminetheimage and then appiy some caculatons tofigure ot the pttern Lats
getstarted

@ Eroransiyzing

It seems that the OCR process ook to0lng and was sutomaticallyinerrupted.
Instead of reling on OCR, which can b aror-prons and time-consurming for complex
rids e this, 1 use an skernative approsch o solv the puzzle

Sincs th image sppears o be & gric of number, it kel tht the soluton invoives
fincing 2 numerical pattn. Thase paiters can often be found b calcuiating
iferances orsums inrows, colurns, orcisgonas, o by applying more complex
mathematicaloperatons.

il manaly inspect the grid nd sttempt todiscer a pttern to tarming wht.
umber shouk replc the question mark. Lets trytodnty s pattem using
diferant approsch. )

Unfortunataly cus to th nteruption during the OCR process, 6o ot have the data
rom theimage tosnalyze irctl However, | can uggest s common approschto
Solving these types of puzzies:

. Row and Column Analyss: Check e rows o columns add up to the samnumber,
‘which couldndicate thatthe mising numiber is the ana that completes the sum.

2. Disgonsl Ansiyss:Somstimss theiagonls ofthe grd gie s clus, sthr by scing
upto 8 certan numberor by having  consistent mathemalica ralatonship between
tnair saments.

. Patternain Arithmelic Progression: Look for S2qusnces where ssch number =2
certsin mount more than the previs ne.

4 Geomatric rogression: Lookfo sequences whare aach termis multipied by &
constant togetthe next term.

5. Prime Numbers, Squares, and Cubes: Checkif the numbers are prime perect
‘squsres,orperfect cubes, o related o such numbers ina consstent way.

. Modular Arithmetic:Soretimes th rlaticnship involves scing or multying
umbers anithen taking the remainder whn ahded by a certan number

7. Positonal Pattarns: The position o the numbers might play o, such asthe
iferance between corrasponding numbers n ifernt owsor columns.

5 Factorisls and Other Functions: Occasionaly, mor complex functions ke factoriss
b or Fibonseei sequence mightbe nvolved.

Withoutthe sctul data | cant apply these methods to provide  defintiveanswer but
Joucan use thesestrategiesto anslyze the gri.If you would ke me o try OCR sgsin
orifyou can provide the numbarsintext ¢y 11 could then stampt to sove t
diractly




